Multiplicar por potencias de diez (nimero faltante)
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Nombre: Fecha: Puntuacion:
1,734 x =1734 5,481 X = 548.1
9,178 % =917.8 6, 586 % = 658.6
1,908 x =190.8 5,374 x = 5374
2,613 x = 26.13 7,05 x = 7050
7, 789 X =77.89 8, 705 x = 870.5
5, 045 x =504.5 7,036 X =703.6
10, 421 % = 1042.1 4,242 x = 4242
2,252 x =22.52 8, 786 X = 878.6
7,063 X =706.3 4,23 X =423
3,383 % = 3383 4,994 x =4994
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Nombre: Fecha: Puntuacion:
1,734 x 100 = 173.4 5,481 x 100 = 548.1
9,178 x 100 =917.8 6, 586 x 100 = 658.6
1,908 x 100 = 190.8 5,374 x 1000 = 5374
2,613 x10=26.13 7,05 x 1000 = 7050
7,789 x 10 = 77.89 8,705 x 100 = 870.5
5,045 x 100 = 504.5 7,036 x 100 = 703.6
10,421 x 100 = 1042.1 4,242 x 100 = 424.2
2,252 x 10 =22.52 8,786 x 100 = 878.6
7,063 x 100 = 706.3 4,23 x 100 =423
3,383 x 1000 = 3383 4,994 x 100 = 499.4
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